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Paper :I (Group:I) Objective ((5%2) ( ‘f’/"ji"') I: 24
Time : 20 Minutes ) - Code : 5985 s 200 o
Marks : 15 ' .gld/, ’6/“ G-18 15
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill_that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two
or more circles will result in zero mark in that question,

1. 1. ¥:=0 is a solution of the inequality e o Ker Sl ahls £ x=0 _1_1
x-2<0 (D) x+2<0 ©) 3x+5<0 (B) x>0 gpf _
2. Point(-3 ,-3) lies in quadrant - SGLSF(3,-3) B
v (D) i 40) 1 (B) I (A)
3. Mid point of the points (2,2 ) and (0,0)is -« 5 Qs ¥ (242 4 (070) 45 -3
-1.-1) (D) (0,19 (C) (1,0) (B) (1.1) ¥~ .
4,

- : .y~ - i A 53 I g
If two angles of triangle are congruent then the __;,_r;L.n;}""LM gy uxJLﬁ,.:iz L3 f-é-‘r'ur( Jr &
sides opposite to them are also
non parallel ($i1#7 (D) opposite ¥ (C) congruent gﬁ.;‘ B)  parallel {5 (A)

5. The of circle is on the right bisectors of —eubyr gt Sl 5 L1 L Kb 5

each of its chords

sector (D) diametre & \@) radius Ul (B)  centre I (A

6. Medians of triangle are Sl Lads -8
parallel Ji# (D) congruent U'f'.}‘ (C) equal iz (B) concurrent & A4 /(A}
7. Congruent triangles are _g__?;:},vru... Ji= 7
concurrent & 4 (D) different ¥ (C) parallel  $j#  (B) similar & (Ai
8. Parallelograms on equal bases and having _g_"?JK s J&1 Lot GHPEE as i Eis PUIY IV
the same (or equal) altitude in area are
similar ~ _& (D) congruent J‘EP (C) equal iyt {E?) un-equal w;/.f/. (A)
9. < A quadrilateral having each angle equalto 90° s called -{_GUJ «x90° a5 £ ¥ Sz LT o -
rhombus 2~ (D) trapezium i3 (C) rectangle J-'-h;‘ ‘éﬂ) parallelogram {u=ui$its  (A)
10. An Idea of matrices was given by b i KU -&9"
John Napier 4z b (D) Al-Khawarzmi d);i,gi (C) Briggs )i (B) Arthur Cayley é'.’/;" A)
1. In 35 the radicand is __q;fcgé; sPB5 1
{'35)-% (D) 35 (C) % (B) 3 (A) .
12. The logarithm of unity to any base is equalto -‘at'x.c-',:;{ﬁ £ 1 U T
0 (D) - () 10 (8) 1 (A)
13. The degree of polynomial 4x* +2x%y s cess € 44247 4 ¥ g3
4 (D) 3 (©) 2 -(B) 1 (A)

> > AN
14 Find m sothatx” +4x+m  isacomplete square  -f2 berdly J€ X° +dx+m el m-14

16 (D) 4 (C) -8 (B) 8 (A)
15 HCFof @' +band da*—ab+b® i e g d—ab+b® 4 d+ b 15
a’ +b? (D) (a— by’ (C) a -ab+b’ (B) atb (a
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Time: 2 : 10 Hours Subjective W) & 2.0

Marks : 60 g[)L’C’;—q"lg 60:

—e G 9) Al e yn L Uirde Sle Lo e fitizo : o

Note :- Section | is compulsory. Attempt any three questions from Section |l but question

No.9 is compulsory.
Section | (J3l.»

2. Write short answers to any Six parts : (6x2=12) :é;f..-.,uz/?&.lzngc.df -2
it C=[1 =1 2] thenfing  (-2C | e (DC 5 . C=[1 ~12] 7.
i Define rectangular matrix. S pS " %
ji. Simplify the radical expression i% aﬂ,ﬁ’uﬁ e J/Lﬁ_ vé*:-; Tii
iv. Simplify T% and write it in the form of @+bi - -*":ru:uﬁJ’a+bf ¥ NEHN {‘E; i
v. Express the number 0.00643 into scientific notation . _éfu':_/f} L/ 0.00643 o
vi. Findthevalueof X when L0g.8 =§ Log,8 = ;r Lok 230 x i
) ] (x+1) =dxy ) ; )
VI Reduce the rational expression in the lowest form —(r’__l—,)i“— .-;"’_Gufuﬁu:} A7 fla Py -Vl
viii, Simplify Jis Z A i
V32
ix. Factorize & - N 42 “ESF Lix
3. Write short answers to any Six parts : (6x2=12) -‘&J&LFﬁ/‘?ﬁy*Zlfc.Jf S
i Find LCMof 39x 3z ang  91x"y%z" c g P ¢ Y027, 30TV
ii. Solve the equation —_— ZW =35 -ﬁ:uw i
. Define a linear inequality in one variable.. s “Zy e G £ AT i
iv.  Define Origin _;{__@fu'/ 4 _iv
v. Find the value of mandc of x—2y =-2 LS y=mx+e S X=2y=-2 &bt v
by expressing it in the form of v=mx+¢ i :-f_f,-':i”.—.‘fu( c um
vi. Let P be the point on X - axis with e "atir =X g 5.(‘55 £ /i=f ~X B2 4__;,&'5-; L;i.{l p /i -vi
x- coordinate "a " and Q be the point on Y- axis -~ "bad Y B e ’S's.; y—fr Y 2e b L {Q
with Y - coordinate " b" , find the " a=-2, b= -3 L bl JrlQ P bE
distance between P and Q if a =-2 . b=-3
vi. Define Isosceles triangle. _g;.@,;{j}';.b@éuiasi} ~vii

4

vit Find the value of unknowns "m " and " x" for the given _&fi:rsj-"‘x.'&d X"l tmt e AU FEES L i
b

congruent triangles.

B sm-3D2mig C
X LMNP isa parallelogram. Find the value of m and n. e 3 m < Lo P JILMNP -ix
P 3 N
4m +/ ’ 10
L Sm~4n M
4 Write short answers to any six parts : (6x2=12) ‘Z;':a;i.e/"ﬁ;lzqa.df -4
i, Define right bisector of a line segment. Y G T

(Turn Over)



Vi.

vii.

viii.

Note:

5.(a)

(b)

6.(a)

(b)

7.(a)

(b)

8.(a)

(b)

(2)

Explain that the given lengths can be the lengths of the -,;_G*@Juwc_ufuisa»fg{yu, i
sides of triangle. 2cm, 3 cm |, 5c¢cm 2cm , 3 cm , 5cm
Define Proportion. _ébyfof.._/!:? -iii
~iv
Verify that the triangle having the following measures of the sides S5t CUSE un L et
is right angled a=5cm, b=12cm , ¢ = 13¢cm e N A S ) 4
State Pythagoras Theorem. - . _éc,rg:.u"‘i}? £ oy
Define Rectangular region. -é—é‘/&ﬁwﬁ <V
Find the area of the given figure. ' 3em _5(}*’.}} ¢ Fdns i
. -
_ 6 cm
Constructa 4 ABC in which mAB =32cm, mBC =4.2cm, mCA=52cm AU et ABC &L _viii
Define incentre of the triangle. i’d‘f..y/'{;( y Juﬂ Vsl a e i

¢SO A (A B) 3T Ly )-Zorepzlatvbe §f : ws

Attempt any three questions. Each question carries Eight (8) marks but question

number 9 is compulsory.

Solve the following system of Linear equations by Cramer's Rule. -E S byl 4/ (a)-5
4x+y=9 4x+y=9
-3x-y=-5 -Ix-y=-5§
2l 2m 2n
Simplif S ‘e | s 0
p Y a 1 an,-ui an+ &
8.97)’ x(3.95) . ;
Use log table to find the value of ~(——3)1—;(§—?—L d S wie e F6) (a)-6
1
2 : S .
it P=2+"\3 then find the value of P+ T iy P=2+ 34
: 3 2 i s >
Factorize by factor theorem 3’ -x"-12x+4 “Ef endlf £ (a)-7
Find the square root using division method 9x* —6x" +7x2 =2x+1 S 7 i (D)
5(x-3) (X
Solve the equation & Y= 9 ' - Foehl (a)-8
: i
Construct ©  ABC and draw the bisectors of its angles -f».ff it Ui N sl Zl: ABC &4 (b)

mAB=4.5cm , mBC =3.1em and mCA =5.2¢m

Prove that any point on the right bisector of a line segment is Bl {_botd):fésﬁ.xﬁdiﬁ LN St 8
equidistant from its end points. ¥ 4 sbeWsloae Us 3285 L o
OR L
Prove that triangles on the same base and of the el L6 Lt sl uy:cfr, 4u’5‘d~'_§ :’u:""” ufff’jécf,if

same (equal) altitudes are equal in area. _Junxf,:ufjj 7

& 9 - 118 -YHooo
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-ZL’J/;W_)?E/':‘.r':;':.'il:?;_':?_'&‘c':.._.J.?‘.:'—f.:)a.;ﬂg,'s}bé:é. :&v&d'ﬂf{dﬂjlﬁ -._j“.'.ﬁ:é..r D C B A=L lf.‘;h/’t‘L;L.u".-’,: o
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Mete:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that
circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that auestion.

1.1 |2 6 . 2 6 e
i ‘3 xizU then x is equal to e dle™ B 5 % =0 4
. (D) 6 () -6 (B) 9 (A)
2. Imaginary partof —i(3i+2) is e S AE —i(3i+2) e U_-,;:;r =2
=3 (D) 3 (C) 2 (B) -2 (A)
3. Therelationof y=10g x implies ¥ y=10g.x /.3
yo=x D) X'=y © z'=x B) x'=z (A)
4. (3+2)3-+/2)is equalto -eds 3+42)3-42) -4
1 (D) = | (©) 5, (B) 7 (A)
5 The factors of x* —~5x+6 are S iz LxF -5x+6 .5
x+2 , x+3 (p) x+6 , x~1 (a2 ¥x-3 B) X+l ,x-6 (a
6. HC.Fof X¥’—=5x+6 and xX>~x~6 is e g X -x=6 X’ ~5x+6 -6
x-2 (D) X’ -4 €  x+2 (8) x=3 @
7. X is a solution of inequality -.;.J:.._J_.’i Fer il —-2<x <j3?_ ahlaF EFFwena g
R 31 )
2 3
) (D) 0 (C) 3 (B) -5 (A)
B. If y=2x+1 -, x=2 thenyis Gudey 72 y=2x+1 , x=2 S _8
] (D) 4 (C) 3 (B) 2 (A)
9 Distance between points (0, 0) and (1, 1) is g sl (1,1) »(0,0) 6 _9
V2 (D) 7 (©) 1 (B) 0 ")
10. In atriangle there can be only right angle. »- o o FEE ._.i,";_,ﬁ&.-if'uj -10
3 (D) 1 (©) 4 (B) 2 (A)
11. Median's of a triangle are Sy ULl adi 11
collinear L34 (D) concurrent ie'ivr” (C) congruent -.,r";L}" (B) parallel (ii# (A)
12. Bisection means to divide into _____equal parts. - rxtx?;{}: U2 sl e A g .12
) (D) 1 (©) 4 (B) 3 (A)
13. Congruent triangles are gt fe 13
equal .l (D) unequal 4z Z (C) different i (B)  similar L& (A)
14. The diagonals of a parallelogram divide itinto ;,gLf-'_":;:u?;' s inl e 14
triangles of same area. -L{_?L.Sn:l/.ufg’:,;ﬁ
6 (D) 4 (C) 3 B) 2 (A)
15. The altitudes of an isosceles triangle _@L.xUP4U*f, i Lol AUigls 15

are congruent.
4 (D) 3 (®) 2 (B) 1 (A)
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Marks : 60 > _ 60: A~
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Note :- Section | is compulsory. Attempt any three questions from Section Ii but question
No.9 is compulsory.
Section | Jil»
2. Write short answers to any Six parts : (6x2=12) :égfayli/‘?ﬁyl‘thadf -2
1. Define row matrix. --‘_-’F-E;J.J" G i
12 2L
i, 1f A= ‘ A Jhadr (A') Y 4 A= (T
f o plthenfind  (4) > (A) I n 0l ¥
i Evaluate i i _Zaend i
' ; @ ey 1
IV. Express 142 in standard form of «+bi S pbn @ +bi Jﬁ u’;l_,w’/:?i -iv
V- Write in the form of single logarithm 2 log x-3 logy RSN o S }5t
Vi Find the value of X if  log,x=5 log,x=5 Gap 23§ x i
) V219 ke s
vii. - Simplify = S5 A il
63 =
vii. What is meant by a polynomial? Sty Ve 8 &7 viii
IX. Factorize 144a’ + 24a+1 _’_-.(U’fu ~IX
3. Write short answers to any Six parts : (6x2=12) “Selz L g 3
i Define H.C.F. E A
ii. Solve for |3x+]4;_2:5x ~£JF i’—:’f ol
i Solve the equation V2x-3-7=0 L ante dns i
\v. Verify as whether the point (5, 3) lies on the line #.,,,*-L.;_ Chs £ 2x~y+1=0 o (5.3) & fé&_’ﬁ -iv
2x - y+1=0
v. Define Collinear points. -f_:’_g/'u’w? BA Ly
vi. Find the distance between the following pair of points. S Lo e L LEii ni s _vi
A8 ,1) . B6,]) A-8.1), B6.,1])
vii. Define rightangle triangle. _’cf;{.'..@f‘:u/.e,.%f- AN _vii
viii. Define S.A'S postulate. -2,-{‘;—;&.,-:‘? £ u:’-i-u;’ - Vil
iX. Define Parallelogram. dég.f;é;fgf&u‘auldﬂf‘ -ix
4. Write short answers to any six parts : (6x2=12) -&:@Lfﬁﬁ"'ﬁ;lzl,p-_df -4
. Define right bisector of a line segment. S s
! 3cm. 4 cmand 7 cm are not lengths of a triangle. Wi uﬁ-i,'i;;,a'd’ Dot Zale 5 7em o+ 4deome 3cm -l
Give the reason. -’ff-"—i"w"sr-'--J‘IJ

“Zpbr §S ABY xmEC =4.8cm . mAE = 3.2cm .« mAD = 2.4cm

S

DE||BC _t pBCat i

In & ABC DE [l BC if mAD = 2.4cm 5 mAE = 3.20}11,17??.'-6 =4.8cm then find mAB =7

A

{ Turn Over)



iv

<

Vi,

v

vili.

Note:

6.(a)

{b)

(2)
Verfy ©  having measures of lengths < V!L;'!'_,J'-;J'/{.-MLM-L@:.;L?[.';f'i.? UPHY il el 2 Yl v
that are sides of right angle triangle a=5cm, b=12cm , c= 13¢cm
. Find the value of ¥ in figure. _ _EpeiE X S
x[ 2cm
T
PN, ¢ S
Define area of the figure. ' 2P i
. - Rt (o, A 2 ef ’ ..\i"il
Find area of the given figure. —— s !,,1,%.), N )
)J ¥ i = :
/ R
/5 |
Define incentre of a triangle. _cL....w‘J "/V,'mf 5 s v
Construct & ABCinwhich mCA=52¢cm . mBC =42cm,mAB =32cm SU et ABC &L Lix

Section - I (23
SO A E (A 8) 2T L )-BosezLotvle 3 ws
Attempt any three questions. Each question carries Eight (8) marks but question '

number 9 is compulsory.

2 m i 2«\‘ = 2}’ = 4 ~
Use Cramier's Rule to solve the equations Sis - e )‘_/_,/ SUFisl (@)-5
=Y _._J,‘ = -
143 I73 ey L2
Simplify (2) " x(27) 7 x(60) L 22 (b)

(180)" x (4" x (9)"™

. 5/ iy = aj.6
Use log table to find the value of \/;.7’09 x3/1.239 -2 “*”n--u’-r- »m}w}( 3
if min+tp=10  apq mu+np+mp =27 CFwmmrnprmp =27 o myn+p=10 J (b)
. 2 2 2 ~ e 2 2 :
then find the value of  m™ +n” + p° ::‘f";;.»l”.:,zju mo+n 4+ p
Factorize the following cubic polynomial -ff;d_‘.“&:f:pé /.?L{J;wf;,}:;'@ua..:,odﬁ;fﬁl? (a)-7
by factor theorem x* —2x> —x+42 . %O e . D
Use divisiorw method to find the square root of the expression ~$£;’!“" 5/ iz ﬁ;j 2ok (b}
4x* +12xp+9y? +16x +24y +16 4x? +12xy +93% +16x 24y +16
2 1 1
Solve the equation —_——— = x#t1 _.fo..« L (a)-8
' -1 x+1 ,x+1
Construct the triangle ABC and draw the perpendicular -@iﬁftd:/&ﬁmf L1l Z L ABC =& (b)
bisectors of its sides. mAB =2.4cm, mAC =3.2cm and ms A4 =120

Any point equidistant from the end points of aline segment is on the sk Wi Silac s éizi,.’k"'p(( 5009

right bisector of it s £ B e §
OR _ L
Parallelogram on equal bases and having the U L B S oy & oy awsly

same (or equal) altitude are equal in area.
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